Wb 8.2.21 Maths Lesson 2
WALT make arrays

S25 I can
say what a row is
Make/draw arrays
find a total using arrays

1 Use the descriptions to help you build and draw arrays then complete the sentences.
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There are 2 in each row.
There are 3 rows.

2+2+2=

There are altogether.

There are 5 in each row.
There are 2 rows.
5+5=

There are altogether.

There are 10 in each row.
There are 3 rows.

1M0+10+10=

There are altegether.

There are 2 in each row.

There are 2 rows.

2+ 2=
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There are altogether.

There are 5 in each row.
There are & rows.

5+5+5+5=

T

There are altegether.




